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Year 2 - Summer Block 4 — Mass, Capacity and Temperature

Step 1: Compare Mass




Infroduction

Complete the sentences below: F

)

The pumpkin weighs the
as the melon.

than the apple.

é , The lemon weighs

The sweetcorn weighs
than the tomato.

' Word bank: more less same
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Infroduction

Complete the sentences below:

)

The pumpkin weighs the
same as the melon.

The lemon weighs
than the apple.

Word bank: more

The sweetcorn weighs
than the tomato.

less same

less

more
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W Varied Fluency 1 --
Draw lines to show which side of the [
| balance the objects belong.
]
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W Varied Fluency 1 --
Draw lines to show which side of the [
| balance the objects belong.
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Varied Fluency 2

Use the words ‘more’ or ‘less’ to complete the sentence.

Two feathers
weigh

than a pebble.




Varied Fluency 2

Use the words ‘more’ or ‘less’ to complete the sentence.

Two feathers
weigh

than a pebble.




Varied Fluency 3

Order these objects from heaviest to lightest.
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Varied Fluency 3

Order these objects from heaviest to lightest.

o
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Varied Fluency 4

When comparing mass, which symbol could you swap for the
underlined words?

< >

A football is lighter than a bowling baill.

An elephant is heavier than a bat.
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Varied Fluency 4

When comparing mass, which symbol could you swap for the
underlined words?

< >

A football < a bowling ball.

An elephant > a bat.




Reasoning 1

True or false?
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© Clussréc;m- Secrets Limited 2018



Reasoning 1

True or false?

Explain your answer.
rue because...
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Reasoning 1

True or false?

@

Explain your answer.

True because the scale shows that the backpack is heavier than
two cameras. A backpack full of equipment would be heavier than
two smallcameras. : Eised
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Reasoning 2

Ishmael looks at the items on the scales. He writes,

Is he correct? Explain your answer.
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Reasoning 2

Ishmael looks at the items on the scales. He writes,

Is he correct? Explain your answer.
Ishmael is incorrect because...
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Reasoning 2

Ishmael looks at the items on the scales. He writes,

Is he correct? Explain your answer.
Ishmael is incorrect because he has used the wrong symbol. He has
written that the shovel is less than the torches. The shovel is actually
heavier than the torches so he should have written the mass of the
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Problem Solving 1

Look at the scales below. F

S e

=/l

Use one item from each scale above to make the scale below
\ correct. Which item can replace each letter?
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Problem Solving 1

Look at the scales below.

Use one item from each scale above to make the scale below
| correct. Which item can replace each letter?
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